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Q61

Q62

SECTION-2| GENERALAPTITUDE TEST | 30 QUESTIONS

Four numbers have been given, out of
which three are alike in some manner and
one is different. Select the number that is
different from the rest.

720, 120,24,8,2,1, 1

(A) 24

(B) 8

(C) 2

(D) 120

Read the given statement and conclusions
carefully and decide which of the
conclusions logically follow(s) from the

statement.

Statement:

The National Skill Development
Committee conducted an assessment
among their trainers and found the

performance below mandatory level.

Conclusions:

I.  The committee should immediately
organise remedial courses and training
to improve standards.

II. Thecommittee should terminate poor
performers and hire new trainers.

(A) Only conclusion I follows.

(B) Only conclusion II follows.

(C) Both conclusions I and 11 follow.

(D) Either conclusion [ or Il follows.
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Q63 Read the given paragraph carefully and

decide which of the conclusions given in
the options logically follows from the
paragraph,
Alarming level of pesticide and insecticide
residue is found in fruits and vegetables
sold in the market, causing public unrest.
The reason is farmers being forced to use
affordable chemical pesticides in large
amount to protect the harvest.
The pests, after sometime, get immune to
chemicals and hence farmers are forced to
use more harmful chemicals to exterminate
them. The government, is however,
planning to ban the use of some harmful
chemicals as they cause health issue, thus
breaking this vicious circle.

(A) Herbicides should be used by farmers
to prevent such health hazards and
portect the crop at same time.

(B) The farmers have been relying too
much on the chemiclas, long enough
for the pests to evolve and develop
resistance towards them.,

(C) The goverment is going to ban all
chemical insecticides and pesticides
and their use in any form.

(D) The farmers are planning to protest

against the banning of chemical

pesticides.
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Q64 Read the given statement and conclusions

carefully and decide which of the
conclusions logically follow(s) from the

statement.

Statement:
A police officer receives a complaint that
an MP of his district is taking bribes in

order to facilitate some work.

Conclusions:
I.  The police officer should try to
' investigate the matter and catch the
MP red-handed.

1I. The police officer should wait for
some more complaints and then
catch the MP red-handed.

(A) Only conclusion I follows.

(B) Only conclusion II follows.

(C) Both conclusions | and Il follow.

(D) Neither conclusion I nor Il follows.
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Q65 Read the given paragraph carefully and

answer the following question.
Soil erosion is a naturally occurring
process that affects all land forms. It refers
to the wearing away of a field’s topsoil by
natural physical forces of water and wind.
Topsoil, which is high in organic matter,
fertility and soil life, majorly contributes
to the growth of crops. Soil erosion
reduces cropland productivity and causes
the pollution of watercourses, weltlands
and lakes.

Which of the following options does NOT

show steps taken to prevent soil erosion?

(A) Use of proper drainage canals.

(B) Using of contour sloughing.

(C) Soil erosion is a result of mankind’s
unwise actions such as overgrazing
or unsuitable cultivating practices.

(D) Planting provides a protective cover
on land, and this allows most of the

rain water to soak into the groung
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Q66 Read the given paragraph carefully and

decide which of the conclusions given in
the options logivally follows from the
paragraph.
Ina TV show, a famous nutritionist said
that among different items offered for
breakfast, muesli has more nutritional
value than regular cereals. He also said
that oatmeal is healtheir than bread. Buta
recent commercial of a cereal company
says that cereals like cornflakes are richer
in nutrition than plain muesli. The
consumers are posting severe criticism on
social media and on the company website
about the misinformation in the
advertisement.

(A) Thenutritionist has deliberately made
that comment to generate negative
sentiments against the cereal
company.

(B) The nutritionist has high credibility
and people believe his/her words
against that of the famous cereal
company.

(C) The cereal company had done the
advertisement based on an outdated
research and the misinformation was
unintentional.

(D) Social media sites are increasingly
becoming popular among customers

as complaint portals.
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Q67 Five colours have been given, out of which
four are alike in some manner and one is
different.

Select the odd one.

Green, Indigo, Pink, Orange, Yellow
(A) Orange

(B) Pink

(C) Green

(D) Yellow

Q68 Five subjects have been given, out of which

four are alike in some manner and one is

different.

Select the odd one

Physics, Chemistry, Geography, Botany,

Zoology

(A) Botany

(B) Chemistry

(C) Physics

(D) Geography
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Five words have been given, out of which
four are alike in some manner and one is
different.

Select the odd one.

Canoe, Dinghy, Igloo, Raft, Yacht

(A) Raft

(B) Igloo

(C) Canoe

(D) Dinghy

Five words have been given, out of which
four are alike in some manner and one is
different.

Select the odd one.

Cliffs, Lapies, Stalactites, Sinkholes,
Stalagmites

(A) Stalactites

(B) Stalagmites

(C) Lapies

(D) Cliffs

P-KS-1

Q69

Q70

i e Ry v E R ¥ o e
e ¥ 1P o9 ¥ ok ua e 2
= o @1 e v

&, St fewgdl, i,

(A) a3

®) fwgd

(C) &=t

D) =

ifg g Ry 17 & et @ ar e
WE ¥ @ O & 3l ua s #)
T BT TIT BN

e Fe

(A) IR Fe (ecteee)

B) fied feg

(€) At

(D) @ wgH
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Q71

Q72

Five words have been given, out of which
four are alike in some manner and one is
different.

Select the odd one.

Semicircle, Semicolon, Semifinal,
Seminar,

Semitone

(A) Semitone

(B) Semicircle

(C) Seminar

(D) Semicolon

A travel agent surveyed 100 people to find
out how many of them had visited the cities
of Mumbai and Bangalore. 31 people had
visited Mumbai, 26 people had visited
Bangalore, and 12 poeple had visited both
cities. Find the number of people who had
visited neither Mumbai nor Bangalore.
(A) 12

(B) 55

(€) 19

(D) 45

P-KS-1

7011206
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Q71

Q72

9" weg Ry v & Rt & ar s
e ° U@ o ¥ ol ua o &)
9 BT TG BN |

(), anefeawa

(A) s

B) g

(C) WiFR (Hared)

(D) 3wifaRm

flt o goie 1 100 @RI &1 wdeor
fear f® 78 war o WS B o @
fem Hag ok drge W Ty ) 3]
ST HaE 3T 2, 26 FT SIS T & 3R
12 T BT e ¥ g &) 99 St
AT S B, W A A gag R A &
4T Y A

(A) 12

(B) 55

(C) 19

(D) 45
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Q73

Q74

A survey of 500 TV viewers produced the
following information.

285 viewers watch football games, 195
viewers watch hockey games, 115 viewers
watch basketball game, 45 viewers watch
football and basketball games, 70 viewers
watch football and hockey games, 50
viewers watch hockey and basketball
games, and 50 viewers do not watch any
of three games. How many viewers watch
exactly one of the three games?

(A) 440

(B) 365

(C) 205

(D) 325

In an airline, hot drinks and iced tea were
served to 120 passengers. 75 passengers
enjoyed hot drinks and 62 enjoyed iced tea.
If 40 enjoyed both, then how many
passengers enjoyed none of the beverages?
(A) 15
(®) 12
(C) 23
(D) 25

P-KS-1

26

Q73

Q74

7531206

af @ a 500 ¥H B d9 Y
waeor ¥ fr=foRaa STer wa g8
285 <¥fe pedld W aEd §, 195 3¥a
g Wt & €, 115 39 aRaedia
W I & 45 TP Fedid AR aRdedid
T q@d 8, 70 3@ Gedra AR ST
e 2 E 50, 3@ S 3l andsedia
Wd awd 8, AR 50 Tee B At A @
o A T 2w ¥ | e wefe et
@l 4 A 5 @ Ga @ o @ A
&7

(A) 440

(B) 365

(C) 205

(D) 325

U Tgverng §, 120 it a6t g fFaw
3R amgw & R Ty 75 WA A e
fg@a &1 anFg foran iR 62 9 amgw &
1 g forar) afk 40 A @1 o1 e
foram, o R ol & 99 uemil A @

felt @1 0 s w8 fora?
(A) 15
(B) 12
(C) 23
(D) 25
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Q75

Q76

Select the option that is related to the third
word in the same manner as the second word
is related to the first word.

STATUE : SIZE :: SONG : ?

(A) POETRY

(B) WORDS

(C) SINGER

(D) TUNE

A survey of 100 candidates with respect
to their choice of ice cream flavours -
vanilla, chocolate and strawberry-
produced the following information.

50 candidates like vanilla, 43 like
chocolate, 28 like strawberry, 13 like vanilla
and chocolate, 11 like chocolate and
strawberry, 12 like strawberry and vanilla,
and 5 like all the three flavours.

How many candidates like chocolate and
strawberry but not vanilla?

(A) 24

(B) 10

(C) 32

(D) 6

P-KS-1

Q75

Q76

7291206

9 fddcy &1 977 W o dRR T 9
I IHR et & ore gER que e
uEd W W wakt ¥

Ui : HR = T ?

(A) ®far

(B) ¥=

(C) Tu®

(D) g

100 spaffaf & wdeor & amgEAH
Ferae—afire, didere 3l R @t I
wiE @ ey ¥ FrafaRea amed e
LOREd

50 apafid 3 afver due 9, 43 3 didoie
qHE @I, 28 A WA g A, 13 9,
aften iR dfede o1 wig e 119
afeie o R wiE ), 12 @A
3R e @ ywg fsar afv 59 Wl
T TR wE g | 9 e sl
el dfeae R R o ww A

AT v i et T R
(A) 24
(B) 10
(©) 32
@6
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Q77

Q78

Q79

Ina certain language, WOMEN is written
as OWMNE. How will NOTES be written
as in that code language?

(A) TONES

(B) SETNO

(C) ONTSE

(D) ONETS

In a certain code language, SKEW is
written as POCY. Which word will be
written as JYQV as in that code language?
(A) JUST
(B) MUST
(C) LUST
(D) HUSK

In a certain code language, MOBILITY is
coded as 46293927. How will
EXAMINATION be coded as in that code
language?

(A) 27159415955

(B) 67038401834

(C) 56149512965

(D) 12250623034

P-KS-1

7171206
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Q77

Q78

Q79

e v ffaa wmr #, WOMEN &1
OWMNE @& &4 % forar mar 21 S0
IS W7 #§ NOTES @1 fha o feran
STeT?

(A) TONES

(B) SETNO

(C) ONTSE

(D) ONETS

fad ARaa #s Wi #, SKEW &
POCY & & ¥ forem 1ar 8| S0 @S
AN H JYQV @ IgHY - e
forar smgan?

(A) JUST

(B) MUST

(C) LUST

(D) HUSK

faelt Fifera @rs W #, MOBILITY &
46293927 & ®9 ¥ gewia e
2 sHl @ig W B ALH
EXAMINATION &t &% gewifia faar
ST

(A) 27159415955

(B) 67038401834

(C) 56149512965

(D) 12250623034
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Q80

Q81

Q82

In a certain code language, GRASP is
written as INOPQ and BROWN is
written as RNSTU. How will SPARROW
be written as in that code language?

(A) RSQGGSU

(B) QQONMOT
(C) PPONNSU

(D) PQONNST

In a certain code language, ‘1 2 3° means
‘hot filtered coffee’, ‘3 5 6’ means ‘very
hotday’ and ‘5 89" means ‘day and night’.
How will ‘very’ be coded as in that code
language?

(A) 6

(B) 7

© 1

(D) 2

Select the word that can be formed using
the letters of the given word only as many
times as the letters have been used in the
word.

AUDEFGRSA

(A) PSEUDO-GRADE

(B) SAFEGUARD

(C) STAGNATION

(D) GRANDSON

P-KS-1
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Q80

Q8|

Q82

f&xt Ffaa s T # GRASP &t
INOPQ 3R BROWN @' RNSTU @ %Y
¥ for@r 747 8 | SPARROW &1 5 318
Wiy A fa war forar smem?

(A) RSQGGSU

(B) QQONMOT

(C) PPONNSU

(D) PQONNST

fe ff¥ea o wwr , <123 Franf &
‘gic foees 2T, 356" @ i & 40
gfc 8 ok 589 arapf & I U
e’ | S Pre W A A B BN
Hifea fear smg?

(A) 6

(B) 7

©) 1

(D) 2

W R & 999 Y, o R Ry g
€ B IR BT UGN S AR D
T W waar 87 o an 5w v §
JeRT BT IUART g &

AUDEFGRSA

(A) PSEUDO-GRADE

(B) SAFEGUARD

(C) STAGNATION

(D) GRANDSON
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Q83

Q84

Q85

If the word NUPKIPM is unscrambled,
then the name of a fruit/vegetable is formed.
What is the last letter of the word so
formed?

(A) K

(B) U

(C) N

(®) M

Each of'the letters below has been assigned
a unique number. Select the combination
of numbers such that the corresponding
letters when arranged accordingly will form
ameaningful word.

CELSMU

345678

(A) 7,4,5,3,8,6

(B) 6,8,7,4,5,3

(C) 6,8,5,7,4,3

(D) 7,8,6,3,5, 4

Form a meaningful word with the first,
fourth, seventh and eleventh letters of the
word ‘SUPERFLUOUS’. What is the first
letter of that word?

(A) U

®) L

©pr

(D) R

P-KS-1

* AR A
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Q83

Q84

Q85

gfd NUPKIPM Y& &1 Gosam Gl
2, 1 felt vt/ wesll &1 g # )
IH T B A dwR a9y 82

(A) K

(B) U

(C) N

(D) M

i Ry W s R & fau
gfada wen fAfde & 7€ 8 | vt
. WO B 99T W TIR N
JTHU Uil B wafe@ far o, o
AR 0P ARiE T 99 WY |
CELSMU

345678

(A) 7,4,5,3,8,6

(B) 6,8,7,4,5,3

(C) 6,8,5,7,4,3

(D) 7,8,6,3,5,4

‘SiJPERFLUOUS’ & B UEd, 9,
W 3R UREd Rt W uE wriE
IE-HT T | I T BT USAT IER
T &7
(A) U
(B) L
)P
(D) R
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Q86 Select the second, fifth, tenth and twelfth

Q87

letters of the word “"METROPOLITAN’
to form meaningful word(s).

If only one word can be formed, then
select the third letter of that word as the
answer. If more than one word can be
formed, then select M as the answer. If
no such word can be formed, then select
X as the answer.

(A) O

(B) P

C) M

(D) X

Select the number that can replace the (?)
in the following series.

22, 33, 66, 88, ?

(A) 84

(B) 97

(C) 115

(D) 165

P-KS-1

S0ZievL

31

Q86 wiefds @ gAR @ fav

‘METROPOLITAN' /& & g¥R, dfed,
od 3R aREd R BT TAT B
afe dadt U@ R a1 W 8, O IaR
@ WY A 99 U & AR AR BT I
| af @ | e T 79 wad €, @
IR D YA M B g | Al T B
W& el 91 FHaT 8, d IR d WY A X
Y|

(A) O

(B) P

(C) M

(D) X

e saar # (7) & orre wfwenfa
& E arell | T 999 N |
22,33, 66, 88, ?

(A) 84

(B) 97

(C) 115

(D) 165
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Q88

Q89

Q90

Select the number that can replace the (?)
in the following series.

2,20, 74, 110, ?

(A) 152

(B) 182

(C) 190

(D) 210

Select the number that can replace the (?)
in the following series.
2,7,14,23,7,47

(A) 21

(B) 38

(C) 34

(D) 28

Select the letter-cluster that can replace
the (?) in the following series.
KPA,LQB,MRC,NSD,?

(A) OTE

(B) PER

(C) LTQ

(D) MOL

P-KS-1

9021804
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Q88

Q89

Q90

Ffolea sjaar # (2) & o fwenfia
&1 | arent m BT AT BN
2,20,74,110, ?

(A) 152

(B) 182

(C) 190

(D) 210

il sjaen # (7) @ o wftenfia
B WS arell WA B GG BN |
2,7,14,23,7,47

(A) 21

(B) 38

(C) 34

(D) 28

frafoRea gaar 4 (7) @ gfenfia
T A JER—WE BT G4 PN |

KPA,LQB,MRC,NSD,?
(A) OTE
(B) PER -
© LTQ
(D) MOL
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Q91

Q92

Q93

SECTION-3| GENERAL KNOWLEDGE | 40 QUESTIONS

What is the other name of ‘Lucknow
Gharana’ - a style of dance and music?

(A) Uttar Gharana
(B) Nritya Gharana
(C) YogyaGharana
(D) Purab Gharana
India ranked _ in coffee
production in the year 2017-2018.

(A) second

(B) fifth

(C) seventh

(D) ninth

Which country among the following is the
largest importer of Indian tea?

(A) USA

(B) Russia

(C) France

(D) Germany

P-KS-1

6664979
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Q91

Q92

Q93

T R wha A e deft A WAl
TGS WRAT BT G AW w87
(A) IR BRI

(B) T X

(C) arg ERFT

(D) X8 BvFT

ad 2017-2018 # PN S # 9Ra
I UR V8T |

(A) T

(B) e

(C) ard

(D)

f=fofea 3 & @9 wr 3w wrdlg =
BT Y T JATTD 87

(A) qUHY (USA)

B) ®u

(©) wiw

(D)
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Q94 The first jute mill was established at Rishra,
on the river Hooghly near Kolkata in the
year
(A) 1847
(B) 1855
(C) 1889
(D) 1900

Q95 Which of the following is regarded as
Asia’s largest spice market?

(A) Khari baoli - New Delhi

(B) Bapu bazaar - Jaipur

(C) Lal darwaja market - Ahmedabad
(D) Koyambedu market - Chennai

Q96 Which of the following companies is the
title sponsor for India’s cricket team?
(A) Sahara
(B) Vodoafone
(C) Reliance
(D) Paytm

Q97 Inwhich of the following countries was the
“World Police and Fire Games’ 2019 held?
(A) Russia
(B) China
(C) Denmark
(D) Israel

P-KS-1

78249792

34

Q94 ¥ # Plraema @ U gl

Q95

Q96

Q97

8 1, Reer # vgeht ve e # wnfia
o g o)
(A) 1847
(B) 1855
(C) 1889
(D) 1900

T &1 |99 991 "HiAl 4
freferee % & &9 s s 87
(A) @ qEe — g e

(B) 1Y IR — SRR

(C) AT TXATS AIhe — ABHATATE

(D) PTG AHE — =%

frforfaa 3 & - I ARa H
e & @ fog anfeRe yes 87
(A) WERT

(B) qeIHH

(©) Raraw

(D) %A

‘ge¢ Yfrw e W A= 2019
frfofea 3§ & 5w 2w 4 smaRm
& ar on

(A) &9

®) @

(C) %

(D) EorIES
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Q98 Which of the following movies won the

Q%9

Q101 India ranks

66th National Award in 2019?
(A) Hellaro

(B) Uri: The surgical strike
(C) Andhadhun

(D) Sarala Virala

When was the autumn equinox 2019?
(A) 23rd September

(B) 29th September

(C) 16th October

(D) 26th October

Q100 Who among the following has been

awarded the Vir Chakra in 2019?
(A) Col. Lalit Rai

(B) Havildar Chuni Lal

(C) Wg.Cdr. Abhinandan Varthaman
(D) Lt. Col. Yogesh Kumar Joshi

in the Global
Innovation Index 2019.

(A) 47th

(B) 52nd

(C) 5%9th

(D) 63rd

P-KS-1
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Q98

Q99

Frefafea & & fbw e 4 2019 #
664t T qREER War?

(A) RamY

B) 3% X wifea wrs

(C) 3y
(D) & faven

R g (f-Re avmw) 2019
R 1.

(A) 23 R

(B) 29 fydax

(C) 16 Ay

(D) 26 JagaER

Q100 20197, Frfafm ¥ A RV v ap §

wifa fsar Ty @2

(A) oa aferr g

(B) §a@IR T e

(C) f&r Toier aifdFes afwm

(D) wffete e IrY FaR S

Q101 TWad AT 379 2019 ¥ 9N

W W &

(A) 478
B) 52
to) 59%
(D) 63%
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Q102 India ranks number

in the list
of countries (and dependencies) by
population.

(A) one

(B) two

(C) three

(D) four

Q103 Which city of India ranked first in the

‘Swachh Survekshan National Ranking’
20197

(A) Bhopal

(B) Jamshedpur

(C) Indore

(D) Khargone

Q104 The Goods and Services Tax (GST) was

introduced in Indiaon 1st July,
(A) 2014
(B) 2016
(C) 2017
(D) 2018

P-KS-1

68244572
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Q102 VI HEN & IR U a9 (@i Frfari)

MY AT IS B
(A) T®
®) @
(C) A=

(D) TR

Q103 YRa & fFw wax A ¥ WA AT

e 2019 3 vgen W wrw fHar
(A) =T

(B) SR

(C) &R

(D) @RI

Q104 g% Td HaT I (GST) WRd # | Tars,

1 U fbar T o
(A) 2014
(B) 2016
(C) 2017
(D) 2018
SERIES-AD



!V Q105 The special power of the Rajya Sabha to
empower the Parliament to make laws in
’ respect of any matter enumerated in the
| State List by adopting a resolution to this
effect is given in Article ofthe
constitution.
(A) 128
(B) 198
(C) 223
(D) 249

Q106 Department-related Standing Committees
were set up in to scrutinise the
functioning of the various Ministries/
Departments of the Union Government
assigned to them in order to further
strengthen the accountability of the
Government to Parliament.

(A) 1991
(B) 1993
(C) 1999
s (D) 2000

P-KS-1

6269089
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Q105 w5y a1 @1 fadw wfd g9 smem @

UG JyATEY WiuE @ gqws
YR g e aw wow
wl # mive e o ame @ waw
@A 94 @ foy Hag o weE a1
D |

(A) 128

(B) 198

(C) 223

(D) 249

Q106 &g WaR & fafy=1 wareat /i &

& B Gird S B forg A § wafda
W eI Sr g # @
% o 1 HaE B WY TRHR B SaEed)
& AR worge far o wa |
(A) 1991
(B) 1993
(C) 1999
(D) 2000
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Q107 How many states with Fifth Schedule Areas

are covered under the Provisions of the
Panchayats (Extension to the Scheduled
Areas) Act, 19967

(A) 7

®) 9

©) 10

(D) 13

Q108 Under the provisions of Article

a joint sitting of the Lok Sabha and the
Rajya Sabha can be called by the
President.

(A) 93

(B) 105

(C) 108

(D) 116

Q109 In the event of a tie while voting in the Lok

Sabha, the has the casting vote.
(A) Prime Minister

(B) Speaker

(C) President

(D) Vice President

P-KS-1

BL6v¥SL

38

Q107 dwd S &t (Reer Rrgger wiRan)

T R wow, vERmEl (Efi aEr
e Rwga) ¥ el sfafs, 1996 &
s I §7

(A) 7

(B) 9

(C) 10

(D) 13

Q108 IJwT & WAl & T8 S

AR TS A HYE do% @ Ui
AR AT 1 AT ¥ |

(A) 93

(B) 105

(C) 108

(D) 116

Q109 FmwHr ¥ wae HXa §hy g @ Rl

¥ U e oo o afeR
g B

(A) W& w3

(B) wiHv

(C) wrsgufy

(D) uwrHfa
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Q110 Which state in India has a city nearest to
the Tropic of Cancer in India?
(A) Mizoram
(B) Madhya Pradesh
(C) Tripura
(D) Chhattisgarh

Q111 Identify the neighbouring nation with which
India shares the longest boundary.
(A) Nepal
(B) China
(C) Myanmar
(D) Bangladesh

Q112 The Indian peninsular extends in to the
(A) Arabian Sea
(B) Indian Ocean
(C) Himalayas

(D) Bay of Bengal

Q113 Which of the following is the world’s
largest gorge?
(A) Copper Canyon
(B) ColcaCanyon
(C) FishRiver Canyon

(D) The Grand Canyon
P-KS-1 39

Q0 9Ra & 5w = ¥, WrRa § 3 3@

Qlll

G sife dax) @ afy i a1
e #?

(A) FreiRH

(B) ¥ Wew

(C) fgw
(D) BiTe

I USRI I B ygEE N e A
HIRG AT W A AT A B |
(A) AU

®) 9

(C) =R

(D) FFERY

QII2 ¥Rdig Wiggdly _ a& hel g

gl

(A) 3RE WY
(B) &= werrR
(C) fewmerm

(D) @ A @

Q113 Pr=fafea # & gfar & waw dnm wid

I @ &7

(A) B DA
(B) Pcp1 B
(©) frar dar g

(D) & ¥ P+
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Q114 Whichofthe followingistheworld’slargest Q114 Fr=iforiRaa 3 & @, gfvar &1 waw @

/9

river island? % T4y 87
(A) Divarlsland - Goa ° (A) RaR gdg — war
(B) Quibble Island - Tamil Nadu (B) Fad ga — ey
(C) Munroe Island - Kerala (©) T & — IR
(D) Majuli- Assam (D) #[ell — 3rEH
Q115 thecalligrapher of the Taj Mahal, Q115 aomEd @ Yordd (Bferamsy)
built and completed itin 1648 A.D. 3, 1648 & ¥ gHD @ B AW g
(A) Gyasuddin far|
(B) Al-Bukhaari (A) TargE
(C) Amanat Khan Shirazi (B) Id-g@m
(D) Muhammad Abduh - (C) IwHEa @F RREh
D) FEwE IGE

Q116 The freedom fighters Bhagat Singh, Q116 wWazar =14l wra g, g@ig 3R

Sukhdev and Rajguru were hanged to AT[H B ¥ widl
death in : won § 7 o
(A) 1929 (A) 1929
(B) 1931 (B) 1931
(C) 1934 (C) 1934
(D) 1939 (D) 1939

Q117In ____, the British Government Q117 ¥ fafewr waR A WRa #
announced certain reforms in the structure WPHR B g ¥ go Furt 1 awen
of the Government in India, which were A, o Aei-fieY gur @ w9 § W
known as the Morley-Minto Reforms. I o7 |
(A) 1903 (A) 1903
(B) 1909 (B) 1909
(C) 1912 (C) 1912
D) 1939 (D) 1939
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Q118 Udyog Bandhu is an 1S/ISO 9001:2008
certified _____ tier body of the
Government of Uttar Pradesh for the
purpose of setting up of businesses in the
state and covers all industrial approvals.
(A) one
(B) two
(C) three

(D) four

Q119 Uttar Pradeshranks __ interms of
software exports from India.
(A) first
(B) second
(C) third
(D) fourth

Q120 Uttar Pradeshranked __ interms of
domestic tourists visiting the state in the
year2018.

(A) first
(B) second
(C) third
(D) fourth

P-KS-1
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6353660

Q118 T ¥ waw ©ifia & @ 9wy ¥

ST dY, TR Fa¥ SR 31 1S/ISO
9001:2008 wHIfOT W
frma & ol 7e Wi aftgafirs sl
& wifRa wvar &)

(A) &

(B) a1

(C) &=

(D) 9Rr

Q119 #rw ¥ wivedwr Frafa o gfe | saw

WRE W R
(A) uel
B) T
(C) TR
(D) =2

Q120 7 2018 # wsy T T TR A W

TRl d AMA § SwR yew
®H W &)
(A) wemH
B) TW
(C) drr
(D) ©@e)
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Q121 The city of in the state of Uttar Q121 IR ¥ U9 # e fiaa @

Pradesh is famous for brassware T iR swiftren @ fog wig B
manufacturing. (A) HERTYRY

(A) Saharanpur (B) TR

(B) Moradabad (C) s

(C) Agra (D) &S

(D) Lucknow

Q122 In which year was the Banaras Hindu Q122 %W fg Reafagarer few ad wnfda

University established? fsar T ar?
(A) 1902 (A) 1902
(B) 1910 (B) 1910
(C) 1916 K (C) 1916
(D) 1921 ;’ (D) 1921

Q123 Which of the following wasthemostliterate Q123 2011 3} SFTIOF & IR, Swi¥ QW

district of Uttar Pradesh as per the Census @1 Haiftid WRR WHUg DE-a1 or?
of2011? (A) Mg

(A) Ghaziabad (B) FMYR TR

(B) KanpurNagar (C) wETs

(C) Lucknow D) TR

(D) Jaunpur
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Q124 Which district in Uttar Pradesh had the Q124 SR Wa¥ & farwr ey % af 2018 B fyg

highest per capita GDP for the year 2018? ufer sfe waer w¥e Sz () war
(A) Meerut % s or?
(B) Lucknow R (A) B
(C) Gautam Budha Nagar (B) TETH
(D) Prayagraj (Allahabad) (€) *vm dg TR
(D) VAP (geT8TaTs)

; Q125 Which of the following is the national Q125 SR WY &7 Vg qu Freifefae §

flower of Uttar Pradesh? qA A &

(A) Brahma Kamal (A) 7E9 oA

(B) Kandhal (B) wfeer (arfFeifiren)
(C) Rhododendrons (C) VSR

(D) Palash (D) ey

Q126 Pradhan Mantri Kisan Samman Nidhi Q126 T 2019 ¥ S y2w A wur W fwr

(PM-KISAN) was launched in the year I B (PM-KISAN) & 9
2019 from ______in Uttar Pradesh. u% fasar mar )
(A) Lucknow (A) TGTH
(B) Gorakhpur (B) T@gR
(C) Prayagraj (Allahabad) (C) VIR (§eTeTaTg)
} (D) Varanasi (D) RO
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Q127 ‘Dum Pukht’ is a popular process of

in Uttar Pradesh.
(A) preparing food
(B) stitchingcloth
(C) sowing seeds

(D) carving wood

Q128 Which of the following is the ceremonial

tradition of laying the food items during
meals?

(A) Zardozi

(B) Chikankari

(C) Dastarkhwan

(D) Kharija

Q129 Which city in Uttar Pradesh is called the

‘ceramic city’?

(A) Lucknow

(B) Moradabad

(C) Prayagraj (Allahabad)
(D) Khurja

,a small town in Uttar Pradesh,
is known for its decorative red clay
pottery.

(A) Bareilly
(B) Meerut
(C) Chunar

(D) Firozabad
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Q127 ‘gH Y&’ IR W H

6513660

L N
Arira gfsar 8

(A) @wH gy 3 faf

(B) ys g

(C) & 9

(D) EHS X TN

Q128 Ao B Y WY USRIl B HAH Bl

ahgaiRe wow Frefafea ¥ & 21 87
(A) TRETI

(B) fFETs™

(C) TxIR@H

(D) @RI

Q129 IR W @ fbe wew o R Ry

HET W 87
(A) TGS
(B) ARG
(C) WAPRIS (geiTeTane)

(D) gt

Q130 TR W FT (& BIETHI T8,

Fgf et P @ womad! qdl @ forg
AT T 81

(A) ¥R

(B) #%S

©€) R

(D) e
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ROUGH WORK /Y% &1 & fog

095E66L
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Read the following Instructions carefully :

Pr=faRag Aidal & =19 @ ud -

1. Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not liable

to be changed

The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet.

. Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy in
Test Booklet), another set will be provided.

The candidates will write the correct Test Booklet
Series as given in the Test Booklet in the Attendance
Sheet.

Each candidate must show on demand his / her Admit
Card to the Invigilator

No candidate, without special permission of the Center
Superintendent or Invigilator, should leave his / her
scal.

. The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty. Cases where a candidate has not
signed on the Attendance Sheet will be deemed not to
have handed over the Answer Sheet and dealt with as
an unfair means case.

. Use of Pencil/Electronic/Manual Calculator is

prohibited.

The candidates are governed by all Rules and

Regulations of the Commission with regard to their

conduct in the Examination Hall. All cases of unfair

means will be dealt with as per Rules and

Regulations of the Commission.

10. After Examination is over, candidate has to return his
Answer Sheet to invigilator, Invigilator will hand over
the Candidate’s copy to candidate, then only
candidate is allowed to leave the examination hall.
Candidate is only allowed to take Candidate’s copy of
answer sheet,

11, Candidates are not allowed to take Test Booklet with

them. They have to submit the Test Booklet to the

Invigilator after the exam.

‘;j HEG:..E;

1. wod g @ fog f{v 1 ar et d @
e 9N @ foT 3l UH. R, 9T e W)
Had U& A B 8 T TRE Plcl 91 Uige
99§ W | TP IR ST 3ifdba e oM &
a1% 99 dgdl T8l W |adl 8 |

el gFfaa & # S w=3F A Ae
WY U9 9 WX P18 A e 7 &l |
gderefl AT FAHAS IR UHS A
iR wm & afoRea ez 7 ford |

g U4 SR UHE @
warT &, qife e ff oRRefy § @aa
e gRa®T § FA B BI$ HY) THA GAOET

gﬁaﬂqdwmmaﬁm

qﬂmgﬁamﬁawwmgﬁammm
1 ey ¥ a8 9 sufefa use A
fored |

UB WM U WP TR, T Jisd B
YT WAy v @ |

aefieres a1 der ATdeS B e agEly B
faar @18 gdemeit g wiE | B

PIRINT B ATAED P YT IR 937D AT
faar odemfi agar w58 et ot
et gdemeft < Sufrfy yae o swmR w18
fasy o 98 FFT ST @ SEA 9T UAS
T8 dlreran & 3N I8 Igfad e B AT
HTHAT ST |

e /gassite / swaafea WReas o
SuanT afefa 21

uen gt ¥ areror & o gdemedi s @
wﬁﬁnﬁ@ﬁﬁwﬁimmﬁa%lm
grEl @ @ gHel T DEe AT D
il wd fafradt & sgar g

10. 598N & SUNIT AL} IR UFD B IAANTD
B dler €| sradEd gRT anael B 9T
= ot anaell wfty /gdfig iy swma o
gt e fore Suvia € B @ Bred @
I € e | SR wEe o anaedf ufdy
appeff Y A0 W A S @ et #

1. 98en & sy wharff s odar gRasr
oE Fades o) ater @ | odEr gRaer
»! gferelf e ey 98 @ o gad )
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